
Subject: Re: DECOMPOSING ERREYGERS CONCENTRATION INDEX - STATA...
Posted by Liz-DHS on Tue, 07 Feb 2017 17:02:54 GMT
View Forum Message <> Reply to Message

A response from Dr. Shireen Assaf:
Quote:
Hello,

The following code can be used for obtaining the concentration index with the erreygers correction
assuming you have computed your outcome variable cpr (contraceptive use). Here I am showing
this for the wealth index, the same should follow for the education variable.

gen wt= v005/1000000
conindex cpr [pw=wt], rankvar(v190) bounded limits(0 1) erreygers cluster(v001) 

Thank you.
Best,
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